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1. State two features that hinder self-polli{ration in plants (2mks)
.............................................. S I
\Q
&)
......................................... 7 e e e e e e
R
2. (a) Name the structure : Q)l—(’%
() Found betwee(\\g’/vo vertebrae. (Imk)
(i)  That atga\ches muscle to bones. (Imk)
\3
@K‘%‘ .............................................................................................
(b) Staé@&tw_o functions of arm of a microscope (2mks)
"
Q‘.a‘cg .........................................................................................................
e
& .
635 (a) State two functions of cell sap. (2mks)
(b) State two functions of arm of a microscope (2mks)

. The letter H and h represent the dominant and recessive genes for haemophilia

respectively. Write down the genotype of the following:- (3mks)

(a) Homozygous dominant.

(c) Heterozygous

. Give two reasons why accumulation of lactic acid during vigorous exercise leads to

increase in heart beat. (2mks)
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() Name thi parts labeled: (3mks)
\

A
QQ}%
B R
&
Q@a}? ...........................................................
C& What does the part B form after fertilization? (Imk)
e e e et ettt
2
Q‘e .................................................................................................................
@* 8. Explain three ways in which red-blood cells are adapted to their function (3mks)

10.Three people got road accident at Kehancha and all suffered head injuries. Indicate

the part of the brain each suffered by patients showing the following conditions:-

(a) Loss of memory and speech. (Imk)

(b) nabilty to maintain proper body balance and positon. amig

o : Inabmty to regmate bOd y t e mperat u re ................................................ (1mk |
11 Name the strengthening materialfound in the following support tissues: (2

12.A student from St. Joseph Ntimaru made three potato strips from a fresh potato.
Each strip measured 70mm. One strip was placed in solution P and the other in
solution Q. The last strip was placed in an empty Petri-dish. The strip were analysed

after 20 minutes and sowed the results recorded below.
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o
Strip in solution P @‘cljzirm
Strip in solution G \Q’b& Flabby
Strip in Petri-dish f@Q’b\O Same as before
(&) Account for observatig@Jrecorded in strips kept in solution P and Q after 20
minutes. \‘QJ
(i) In solution®® (2mks)
...... e
(i) Ig\splution Q (2mks)
be? ...................................................................................................................
(b)Q,&étate the role of the strip kept in the empty Petri-dish for 20 minutes. (Imk)
@‘o .................................................................................................................................
eeij‘?. (i) What is meant by vestigial structure? (Imk)
(i) Give an example of vestigial structure in human. (Imk)
14.(a) State what happens during the light stage of photosynthesis. (2mks)
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18.A group of Biology students picked an&erganism from the shores of the school dam.
)

They observed and classified orga@%s as follows:-

"
KINGDOM — Animal @sz?
DIVISION — Arthropoda <
CLASS - Chillopoda \«"’e
(a) State two mist@é the students made in their effort to classify. (2mks)
N
O Tttt

\.
Q‘.a‘cg .........................................................................................................
@Q, ............................................................................................................
er. (a) Nitrates is the form in which Nitrogen is availed to plant. The process of breaking
down Nitrates to Nitrites, Ammonia and even Nitrogen is known as: (Imk)
(b) List two adaptations of emergent hydrophytes (2mks)
20.(a) Define the term metamorphosis (Imk)
(b) Explain the role of the following hormones in insect metamorphosis. (2mks)
(1) MOURING NOIMMIONE: ... . e e e e e e e e e e e e nan s
(i) Juvenile NOMMONE: ... ... e e e e e e e aen s
(c) State two adaptive advantages of larval stage. (2mks)
21.List down two features that affect the rate of active transport (2mks)
22.(a) State two factors that affect the rate of active transport (2mks)
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23.The diagram below is a mature fruit of gﬁ:otyledonous plant.
)

@9/\;5;4—— A

At
Q’z’“% %
2 \'\ )
o |
& W
N \Yf
(a) Identify part A.~§ (1mk)
o
. .4\ .............................................................................................
(b) Suggesbthe possible agent of dispersal. (Imk)
R
R
\Q ......................................................................................................
(cb@?\/hat is the role of the style of flowers in the process of double fertilization.(2mks)
S e e
N
e@ ..........................................................................................................
o 24.Name the major mineral element in the composition of the following:
S
N\ (a) Haemoglobin (1mk)
S
O e
(b) Chlorophyll molecule. (2mks)
25. List two functions of centriole. (2mks)

26.A patient whose blood group is A- negative died shortly after receive blood from a

person of blood group B+ positive. Explain why. (2mks)

28. A certain plant was found to have 28 chromosomes in its petal cells. State the

number of chromosomes in the plant.

(i) Egg cell in the embryo sac. (Imk)
(i) Endosperm cell. (Imk)
29.Name the causative agent of cholera. (Imk)
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